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1) If M and N are positive prime integers greater than 2 and Q is an even integer, which of 

the following statements is/are true? 

I. 𝑀𝑁 + 2𝑀𝑁 is an odd integer 

II. 3𝑀2 + 2𝑁2 is an even integer 

III. 5𝑄 − 3𝑁3 is an odd integer 

a) Statements I and II only 

b) Statements I and III only 

c) Statements II and III only 

d) Statements I, II, and III 
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2) If M and N are positive prime integers greater than 2 and Q is an even integer, which of 

the following statements is/are true? 

I. 𝑀𝑁𝑄 + 2𝑁𝑄 is an even integer 

II. 𝑄2𝑀2 + 2𝑄𝑁2 is an even integer 

III. 5𝑀𝑄 − 4𝑀𝑁3 is an even integer 

a) Statements I and II only 

b) Statements I and III only 

c) Statements II and III only 

d) Statements I, II, and III 

 

3) If M and N are positive prime integers greater than 2 and Q is an even integer, which of 

the following statements is/are true? 

I. (𝑄 −𝑀)3 + (35𝑀𝑁)2 is an even integer 

II. (37𝑀 + 29𝑄)2 + 17𝑁2 is an even integer 

III. (85𝑄)2 − (93𝑁)3 is an even integer 

a) Statements I and II only 

b) Statements I and III only 

c) Statements II and III only 

d) Statements I, II, and III 
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4) If M and N are integers less than zero and Q is an integer greater than zero, which of the 

following statements is/are true? 

I. (𝑀𝑁𝑄)2 × (2𝑀𝑄)3 is a positive integer 

II. (−3𝑀𝑄)3 ÷ (5𝑁𝑀)2 is a positive integer 

III. (−2𝑀𝑁)3 × (−3𝑀𝑁𝑄)3 is a positive integer 

a) Statements I and II only 

b) Statements I and III only 

c) Statements II and III only 

d) Statements I, II, and III 

 

5) If M and N are integers less than zero and Q is an integer greater than zero, which of the 

following statements is/are true? 

I. (𝑀𝑁)3 × (−3𝑀𝑄)2 is a positive integer 

II. (3𝑀𝑁)2 ÷ (5𝑁𝑄𝑀)3 is a positive integer 

III. (−2𝑀𝑁)2 × (−3𝑀𝑁𝑄)3 is a positive integer 

a) Statements I and II only 

b) Statements I and III only 

c) Statements II and III only 

d) Statements I, II, and III 
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6) If M and N are integers less than zero and Q is an integer greater than zero, which of the 

following statements is/are true? 

I. (−𝑁𝑄)2 × (−2𝑀𝑁𝑄)3 is a negative integer 

II. (−3𝑀𝑁)3 ÷ (−5𝑄𝑀)2 is a negative integer 

III. (2𝑀𝑁𝑄)3 × (−3𝑁𝑄)3 is a negative integer 

a) Statements I and II only 

b) Statements I and III only 

c) Statements II and III only 

d) Statements I, II, and III 


